ARB F Bt f 8 A X

%1 FHEE

7H30H (k) 10:00 ~ 10:50

5 ® P A I IR 2 AT 6 A& | TrAF N | BEF |NE AL
1-42 | fEH B g§ 5. WE 2 —
1-43 | A3 #K =4l Bl 3 —
=44 | AR FEfE BN KEFEFE | 2 —
1-45 | (R KK Rl Rl 3 —
1-46 | KT FA e ] N 2 _
1-47 | &R FHERL fEIE BRI 2 —
1-48 | R H3f EE 5. & H 3 —
1-49 s )l EREE 2 _
1-50 | JIlgF {42 =R (L5n 3 —
1-51 | /NIl ¥HZE = UN:H 2 —
1-52 | Ak e & N 3 —
1-53 AWK T2 PRIFAE 3 —
1-54 | REE BiE Koy HIUNFER | 3 —
1-55 | &M ekt AR T 3 —
1-56 | fRIF BEzdr i P/ 2 —
1-57 | O s e ek 2 —
1-58 WO LT i) 1 —
1-59 | HH EiE N E=Fif 1 —
1-60 | FEAT R HE St 3 —
1-61 | HH Ko £ e i 2 —
1-62 | HEF LKE | RS LS 3 —
1-63 | L AR T2 TIEREH 3 —
1-64 | f&@kH A& N EmEmEE | 3 —
1-65 | FkKH PR3t s MR ETE N 2 —
1-66 | 4B &N WO AR HER 3 —

A M




ARB F Bt f 8 A X

% 2 FHEE

7H30H (k) 11:30 ~ 12:20

5 ® o F HI3E FF I E2 S 2 6 K | TrAF | A [IE 67
2-42 | HREP fEE IR wAk 3 —
2-43 Bl i T THERA 2 —
2-44 | fERk (5% K5y 2R 3 —
2-45| Fnr K )l RS 2 —
2-46 | BF HRE B K0 2 —
2-47 | AR EUK stz AN E T E R 3 —
2-48 | i &R FERS B Fn IR g 2 —
2-49 | v=v—| MR KHJR 3 —
2-50 | K% M Rl Flt 3 —
2-51 | Il A e i 2 —
2-52 M EE K% THE— 3 —
2-53 | FEIR EX HOR CiPNGEE 53 3 —
2-54 | @EfE N BB &=l 08 3 —
2-55 | &P thfn Rk} R L 3 —
2-56 | =i AKX HHU CEPNGEE 3 2 —
2-57| KiA {hH Koy FIUNBER | 3 —
2-58 | Ml fkg BE it 3 —
2-59 | UL 18— KB HrE R | 3 —
2-60 | M MK =il el s 3 —
2-61| fH == e Ve Fn 3 —
2-62 | JEH KB L AR 3 —
2-63 | il ES Mgk B aEs 3 —
2-64 | W EEE =B (50 3 _
2-65 | =i FuE R BT 3 —
2-66 | MR X tEIE B 3 —

A M




ARB F Bt f 8 A X

% 3 FHEE

7H30H (k) 13:00 ~ 13:50

5 ® o F HI3E FF I Om O |FE 4 5 6 WA IE AL
3-42 | RH pEE FnakiL maklsgE | 3 — | —
3-43 [EEREZPN KB EmE MR | 3 — | =
3-44 | BRI R=F s MBS 3 — | —
3-45 | U kb B AR ER 3 — —
3-46 | /AR BESE tEIE B 3 — | =
3-4T | KIE T = P/ 3 — | —
3-48 | HIR BEE FEVE 5 JEIR R 92 3 — | —
3749 | K WA Rl R L 3 — | —
3-50 | IR FEA BE b 3 — | —
3-51 AR (= b ) 2 — | —
3-52 P 1K BE = B 2 — | —
3-53 | f3HE B} G P Al 4 3 — | —
3-54 Il 15 5§ 5. WE 3 — | —
355 KZ #K )l e 2 — | —
3-56 | ri5sE 22 iR o] 3 — | —
3-57 | /NEPJE 2 ST BT 1 — | =
3-58 | KB #HA Flgy Rt 3 — —
3-59 | MK A =8 Ve IR 2 — | —
3-60 | EfE ZEA RE (L5 3 — | —
3-61 | IUH B HAR A1k 3 — | —
3-62 A =& JIl 3 — —
3-63 | BEE &K T2 TIEREH 3 — | —
364 | ATH 23k =R KFN 3 — | —
3-65 | HHAE FK Koy A 2 — | —

A M




ARB F Bt f 8 A X
% 4 FHEE
7H30H (k) 14:30 ~ 15:20
5 ® P A I IR ¥ AR 6 A& | TrAF N | BEF |NE AL
4-42/| Al BEE KB HEmEE |3 —
4-43 | EH B JSER B 3 —
4-44 | ZRGE BFE PR PR 3 _
4-45 K G B AR ER 1 —
4-46 | KEz AMER | &) W4 3 —
4-47 | I HA Rl B L 3 —
4-48 | HiE RE gl Ry 2 —
4-49 | e EA BE EBEFpt 2 —
4-50 | =1 BEA A =ATIEIdl3 3 —
4-51| TR Fodr IR Bk 3 —
4-52|  FHk ok EIR 8 3 —
4-53 | HE HEAk &I B 3 —
4-54 | FPEF SLRER Tl Py 3
4-55 | AR thA all SRRE E 3 —
4-56 | BIE ARG (= Wik 3 —
4-57 | ARH B Rl Rl 3 —
4-58 | =)l BE A 2 1 7 3 —
4-59 | AU AU B H iy 3 —
4-60 | HrH &b N st 3 _
4-61| Kk HE (= AN 2 —
4-62 | Ak Hlc T4 | dmRmEEZEE| 3 —
1-63 | Ak Rih = I SE 3 —
4-64 | /AR BRSKR KR THE— 3 —
4-65 | B &3} GG 5. B 0 3 —

A M




